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6. Answer the following questions: (9 + 9 : 18)

(a) Using an AD-Y diagram, depict the effect of an

increase in autonomous investment o.n the

equilibrium output Ievel in the economy. Explain

this effect through the concept of the.multiplier.

(b) Write short notes on the following:

(i) Automatic St;bilisers

(ii) Business Cycles

(iii) Monetary Aggregates

ffiRro rd * wst QGs

(t') AD-Y sts qr sqfrrl 6t*, onhsqr t {-Ea{

ve[d;r krr lrr rFlEltr fft{r + 1k + trqltr q} RE-d

dfrer gqo. d sqqRulr * {qt t qs nqrs d
vrarsh

(R) ffikd qt ffiEil frqM frfrs

(i) FsrR-d frffirr
AINR q!F-
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ErdtfraR&r

l. Eq rg-q;r + fii{+ fr sc( Qs rs fftffu rqrt qt qrrr

*-{ficro,frfrs I

z. ErS rfr qiq q{+- 6r yqrr qtr

v*, cunor +dE+.( qr sc+{ o<} d rgcfr *r

E( yrr .l;r rrr irR sii* qr fi+ ffi qq, qlqr + Afrq Afr-{

cfr Yfl+ 6r ctra{ gq, t !t{r qBq r

l. Answer the following questions: (9 + 9 = 18)

(a) Compare the Classical and Keynesian views on

the speed of wage and price adjustment. What

are the important consequences of the differences
in their views?

(b) What is a monetary policy? What are the tools
that a central bank of any economy could use to
reduce the money supply? Using a suitable
diagram. explain the ellects of a contractionary
monetary policy on interest rates?
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(iii) qe 6( d E( o.3ovaa. qa ur& t, * sr+

6r rqT {-gil{ K( wr *fl?

(iv) rirgm fr" 6r sc*{ 66 {1a;rn cHr d
EBr qfifuq r

5. Answer the following questions: (9 + 9 : 18)

(a) Define the'expected after-taxJeal interest rate. If
the tax rate on interest income declines, what

happens to the expected after.tax real interest rate?

(b) What is a balanced budget multiplier? Suppose an

economy is running on the approach of a balanced

budget multiplier. lf there is an increase in
government expenditure, show how it will change

the equitibrium output in the economy.

ffikd yri S lrtn tfrs:

(t,) o't-werr sqkd qr<n-+, qrm s{ d cRflfi-d dfrsr
qE qm sEr. rR fi d er q"q * RrS t, fr
r[,-(-\rlsrd $tEfd qr6Rs' qrfi E( rFr wr *m?

(ra) rgtu a-u-e gqm wr t?'ur ABs ft +{ utq-q?qr

rlEfre EEe {"Fs * EG-dq rR qd Iff *r qE qrort

,qq $ Etr *S +, + z16 q{r@ fr qr il&qiqr t
(-gtr{ uerrq d *t cE&mr
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tuftfur yri * Ytn flfts:

(6',' V(I rS r€ ?fi sqqFr t6{it Eq qilFr ro-qrE sII c
+€ tsr qG6mR d A gqkd ur& afrrm e*r<

(vsft+) d S.dr + A sq qMR vgm ft< ron
a-qfuflr

(w) ffiR<-r flq-flt + flq vzr sfuqem vt fr=qn

dfrq:

C onsumption f unctioni C - 100 + 0.5Yd

Yd =Y -Taxes
Investment (l) = 7.120 crores

Gouernment Expenditure (6-) = {90 crores

Taxes (T) = O.ZSV

sqtw EFrflft * srqn qi ffik c[+ * lrin
fffrs:

(i) tsq src *{ gc+rT + i({fl{ Kr fr rqql

dfrsr

(ii) v(6R * qsrc qEiq qr qrt m tge-t var

nmKl
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frE{frfud yrcl * Tff Afrs:

(m) rwlt *t Tg vqr*wtA rR qr mdq flk frnRq-{
ft-qt- 6 ga-+ dRcr v-{t EEril S u-d( + q6-d$

cfum s{r *?

(ra) *Em. fiF wr *? ffi fr ud*arvr or *fla *o $r
sr$ d ut wti + frs fr-{ sqo,{,fr qr vqfrrr sr
t-o-cr t? v6 irqgffi qfr€ 6r gq+.r t't*, qrs qt
vt {Eino,rft rlFo' ffR + rq'qt- fr qrer d&q?

2. Answer the following questions: (9 + 9 = 18)

(a) Is there any relationship between interest rates

and bond prices? Explain using suitable examples.

(b) Consider an economy for which the following
information is given (all numbers in INR Crore):

Government transfer payments to the domestic

private sector = 250

Gross national product (GNP) = 2000

Taxes = 600

Factor income received from the rest of the

world : 70
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Interest payments from the government to the

domestic private sector : 150

Government purchases of goods and services

= 300

Current account balance = -200

Gross private domestic investment : 400

Factor payments made to the. rest of the world

=90

ffikd sr* * srt Efrs:

(+,) wr qrfr E+ *( ste fi ffi + A-{ d{ Esrr t?
vrgm rcrr<oil sr sq?Arr q-rt qqaEil

(q) qt, t0 wtuqsr qr frlr< frRs frrq+ Rs ftqRtud
urmft a T{ * ({ff ffi 6& dc+ + *)

Given this information, find the following:
Consumption, Net exports, GDP, Net factor income

from abroad, Private savings, Government savings,

and Nat ional Savings.

(b) Consider an economy with the following
information :

Conswnption functioni C = 100+0.5fd

Yd ='Y - Taxes

Investment (i) = \120 crores

Government Expendtture (6-) = {90 crores

. Taxes Q) = O.25V

Given the above information, answer the following
questions:

(i) Calculate the equilibrium level ofnational income
and consumption.

(ii) Find the government's budget surplus or deficit at

equilibrium.

(iii)If the tax rate increases to 0.30y, what will be

the new equilibrium level of income?

(iv)Illustrate the change in equilibrium using a suitable
diagram.t(fi-fr kn d won Enr ft'qr wil Ermr;r - 250
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(i) Y *i i + fr{lirftcta gn drm d
rrsnr dHq r

(ii) +ffc &*' * tr+ d cm d *ffq {q'd rt
fr fi$ * etrr ffumfr sn+ tgffiqrfr qr

ql vor eqrEil

(iii) Uqr d Am ffi wr i? wr m un (ii) i
flrq* ffiI lt{'rr{ qrf, <t w ia d go cr.r

* ctrsi t?

(iv) so,ooo tqt ot ff urg t) qrw qt rR trtt vqrq .

qtfl ?

(v) €ttu 1n ffi <-am ropopoo w+ A vrft

+, fr q-s et cr wr crne q+,rn?

4. Answer the following questionsi (9 + 9 : 1 8)

(a) Using the S-I diagram, explain how the goods

market equilibrium would change if there is an

invention. in the nation that raises the expected

future Marginal Product of Capital (MPK).
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qfim n$q sflr( (SS'ifr) = 2ooo

16{ = 600

te Frq + flR rfirar BIEr = 70

rr<qn t *{fffr *a * qo gdm = l5o

qqil} d( ffi m r<fit <ttq = eoo

?rq raritt tq = -200

qs-nffiRqfffu = aoo

tc Gls * ftC qS x6r66 T{inrr = eO

Er iilr{fit d qIqR q{ ffikf, nrc dRq: sq*{,
ftc-d ffifr, r+-o *(vtqre, Ftw * {a tnrtf' fltt,

ffi {rrc, rcqrt eq-c qk {Sc ffi-(t

3. Answer the following questions:

(a) Define the three measures of savings: National

Savings, Private Savings, and Government Savings.

Suppose the government deficit increases. Explain

whether the following statements are true or false.

Give reasons for your answer:
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(ii) Investment falls

(iii) The current account balance falls

(b) Consider an economy where the public holds no

durrency. The ratio ofreserves to deposits is 0.2.
The demand for money is given by Md.= Y(17-
8i) [Y is measuted in rupee terms]. Initially, the

monetary base is Rs 100,000, and nominal income

is Rs 500,000. Given this information, answer the
lollowing questions:

(i) Calculate the demand for central bank money
in terms of Y and i.

(ii) Find the equilibrium interest fate by setting
the demand for central bank money equal to
the supply of centrai bank money.

(iii) What is the overall supply of money? Is it
equal to the overall demand for mor"y ai th"

, interest rate ygu found in part (ii)?

(iv) What is the impact on the interest rate if
central bank money is decreased to Rs
.50,000?

(v) If the overall money supply inCreases to Rs

10,00,000, what will be the impact on interest

rates?

furRfra yri * sflr Afrs:

(c.) cqr + fi={rr'it d cftnkd d&q: {Etq qqc, fi-ff
qq( *{ vctrt q*cr crr frhc A; qiqrt srer ir6in

*r q-dEs fr ffikd tncFr v * qr irrer sc+

vff + frq tfiRor ir rig:

(i) ffff ssn { gk

(ii) ffart q ftr+e

(iii) iq €r<r is ft{dr I

(ll) \t, tfr s*dqcer qt frsR dRs wd wi-dr d crn

*{ U* rff *r wqnrRr i qsn fl trgcm 0.2 +r Xn
6 cr{r ,ua = Y07- 8i) tY d \{+ * taf i'"*
tr[m +] ERr fi .r€ *r yRq t, dAE frnrr loo,oo0

lci *, *r iFrnd Brrtt 500,000 rct tsr qs vr+ort
* qrtm qt, ffikr cri d r-flr fifrs:
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(i) Private savings increase


